1.—\ 1.—\ /—2_

=
o W2 | Ot <
— 5 | —88 | BB | RiE I auTto | KEY WF = SREF - G
i &0 | f I. l l l l I
0 It T 016000 S Mot 90 =
— # it e mhoV EEDTEE (I8 *
O] ERTAR —
psal g 15] 2 0 i =
T T 2 Z 25 o i T =
st FiE 4 3 4 0 b —
% TFEES 0 5 0 5 =
Pl wFEe [ 6 o 5 | —
AUTO JFHE 7 E5 7 n 5 [ —
ITFES 15 2 n |4 [ —
XFE 2 125 ] i [ —
L
- xFE10 25 i | =
)
- T EICPEERN TSI TFOT A LEETD r r c
{B87s . " ('“ i
= (EBELG, B3, (18T 21 223] g r r
: O Mg Eit. 2 S0Ea - BITE It A s 0 10
HE (- DA DISTE. PEEEN SIS 7 O z
H#E [ EFOREELEETREA e e - e e 2 B e T2
#28h TS B THE B

|| et | | A

3.|—>

AT B0 [F1] &L TSy, A1 52150 | [00] 203015
1 3-5
1.
1 c) ) (  mm)
2. No.
2-41) (@
3. OK






